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(a) CH3CH>—CH2>—OH (b) CH3-CH2-CH(CHs)-OH
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(c) CeHsCH(OH)CHs (d) CeHsCH2CH(OH)CH3

(7) sy gfhar =g STl
(a) 1-TAUST TSFaligFaled Feedgss  (b) Sfcoled FeTedgss
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(A) 0.8x105 atm (B) 0.008 Nm~2

(C) 8x10% Nm~2 (D) 0.25 atm

[Melsistl eselo] AUO YR — X kI mol-t & dl AHO o Y& 9| &l ?

(A) = AU (B) > AU

(C) < AU® (D) = 0

N2(g) + 3H2(g) — 2NH3(g) ; AHO= -92.4 kJ mol-1 31U 8. NH3 dl}je{l unL(Cld

Ul GWH| Jed] Q) ?
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and -285.83 kJ mol-! 8.
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13) ol Aefl 3518t U5l L (S52AA(S Ut (d glRL HHALlEd 521
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(i) cllldeilRal ([dreulUd edlsil €0 M Weisil £Asil dsldd dild caluAlRld salHi

w1d 8. %) 10 m (A2l A 100 kg £9 H2ldd ¢igst 1.66 bar £{18l Ha 27°C
dlunla (slayy 93 eRaMi 11ey dl «{lldei1R 28I (sdlefl tetdl = 1.2 kg m=3 3
R = 0.083 bar dm3 K- mol-!) [03 9Ql]



AsH sAl

a0 : 12 $E QL : 25

(@Qua : uaRsttet AMA 1 AL

sls : 052 HieaAH : oAl
[PART-A]

()]

7.

8

ol e ust ol 1 2l 9 wigldseu ustzetl ysl 8. Aot [QAseu uie 831 Gz WAL [09]
(Ucls Ustoll 1940 8.)

. olleSRgotofl HEAH AUSUANYSAL ..o .
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(A) H2S0s and H2S20s (B) H250s5 and H25207
(C) H25207 and H2S20s8  (D)H2S206and H2S207

.ol U8l 52 weslald BRSlell dAlUHIA Ulos HCI AU Y5 53] woald MesISAH SARLES
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(A) CH3CH2—CH2—OH (B) CH3-CHa-CH(CH3)-OH
(C) CH3-CH2-CH(CH3)-CH20H (D) CH3-CH2-C(CH3)2-OH

.ol AattHiedll s veslSAH dAESSs SN yBa Al ay »sUl U ?
(A) (CH3)3C—F (B) (CH3)3C—ClI
(C) (CHs3)3C—Br (D) (CH3)3C—I

. 5 Aot s(AA ABauH slFJsASS WA Ylsal 53 ?

(A) CsHsOH (B) CsHsCH20H

(C) (CHs)3 COH (D) C2HsOH
.53 Aol AoS(As wWesad B ?

(A) CeHsCH2CH20H (B) CsH11CH20H

(C) CsHsCH(OH)CHs (D) CéHsCH2CH(OH)CHs

............... 3@ ylsau wud otedl.
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(C) At (D) Al
. 5AHs2lel Rss2lel Bl sl dxeta ............. A YBal sAcaHl WA B.
(A) BsAHLEH + HC (B) A SAHAHLOH + HCI
() sAHEH + HNO3 (D) ASAHAHIEH + HNO3
CAREBs Yool UsAl $H ................ AA B,
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(A) (3ol < SAollet < SARRARERS AR < ARRs ARs
(B) SAAA < (Bolldd < sARRARERS AR < ARRs ARs
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(D) SARRARRSs AR < ARRs AR < (Follct < FAAE
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cfetongd & | B fORTATGEAT A § SId A SedT g | o g el

a) A A cfatomad e & arr 3R g |

b) A & gy aRafda gl |

C) A ® FI$ URT wTgr gN |

d) A & arATad (counterclockwise) f&m & €T 3R el
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1. il udd] ¥l (R 293 (AR $2A:

N>, 0%, F, Na*, Mg?* s AP+
Aula A RAY [F2R1etl Y@l sHHL A6,
2. tlaldd 8a52ls(ld Weil ns?np? (n=3 ) Hlddl dedlefl Alcd L.
3. oild Qldel dedlel 1SIHLel Weidl 4] [Gidfl AuAlweloll yas] MajHlel 52U
NA(AYH A4 of1E52)oset
4. VSEPR [Riegidal AIHIR PH3#QsA] USIR QL.

5. X A&la idR 5ot A&l dld A0l <1551 520 5 oflAstiiniell sl (R1oul oy Ul «4&l?

(a) 1s W4l 1s (b) 1s ¥4 2p,
(c) 2py ¥l 2p, (d) 1s w4 2s.
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yeiy w 14efl 511 Aol 1] sl «{ldl B, ug AN[SuHAL (gl 41501

ool 1] AR (R1AueA] [gela iAol 50 Aol s2di G 8.
weldl
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11. «{13 c2lddl dedlefl %lsHiell 53 ded dy 3l $A52\el ULH] Aol 11A 7?7 AHmd).
(i) O Wedl F (ii) F x4dl Cl
[aeidL- D
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SECTION-A
> Answer the following question no. 1 to 5 in short. [05]

[Each question is of 1 mark]

1). Consider the following species:
N3-, 02, F-, Na*, Mg?* and AlI3*
Arrange them in the order of increasing ionic radii.
2). Assign the period of the element having outer electronic configuration: ns?np* for
n=3.
3). Predict the formula of the stable binary compound that would be formed by the
combination of the following pair of elements.
Magnesium and nitrogen
4). State the type of PH3 molecule according to the VSEPR theory.
5). Considering x-axis as the internuclear axis which out of the following will not form a

sigma bond?

(a) 1s and 1s (b) 1s and 2px
(c) 2py and 2py (d) 1s and 2s.
SECTION- B
> Answer the question no. 6 to 8 in brief. [Each question is of 2 mark] [06]

6). Explain: Be has higher A;H; than B.
7). Which out of NHs and NFs has higher dipole moment and why?
OR

7). Although geometries of NH3 and H20 molecules are distorted tetrahedral, bond angle

in water is less than that of ammonia. Explain.
8). Distinguish between a sigma and a pi bond.

SECTION- C
» Answer the question no. 9 to 11 in detail. [Each question is of 3 mark] [09]

9). How would you explain the fact that the first ionization enthalpy of sodium is

Lower than that of magnesium but its second ionization enthalpy is higher than

that of magnesium?

OR
9). How do atomic radius vary in a period and in a group? How do you explain the

variation?



10). Describe the hybridisation in case of PCls. Why are the axial bonds longer as
compared to equatorial bonds?
11). Which of the following pairs of elements would have a more negative electron
gain enthalpy? Explain.
(i) O or F (ii) F or CI
SECTION- D
» Answer the following question no. 12 as directed. [05]

12).(i) Write the important conditions required for the linear combination of atomic
orbitals to form molecular orbitals. (2 mark)

(ii) Use molecular orbital theory to explain why the Be2 molecule does not exist.

(2 mark)
(iii) Arrange in increasing order of stability: Oz, O2*, 027, 022 . (1 mark)
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o AT U AT 1 ¥ 5 F& F FiETd # IcR &2 (IFF F TH 0N [5]
1. =fef@a eelis W AR fifse?

N* ,0% |F ,Na+, Mg*, & AP

IR AT & §6d HA A A HIfIw?

2. IR SAFAfIF eI ns2 np4(n=3) & TU T FROY A AT

3. fArafaf@d acar it N A A o8 arer TR AFF & T T IGAT FL
AR 3R e

4. VSEPR 8@ & 3R W PH; & U311 & YehX Scli3i.

5. x-31faTer @ HR FET & F 3@ R efaf@a & & Fia &Fear e 78 gem?
(@) 1s&1s (b) 1s & 2px (c) 2py&2py (D) 1s&2s
fasrmer-B
o T T IS YT 6 ¥ 8 IF & Aiaed A 3cR Row.(9ds & 2 7o) [6]
6. THST &I Be & AH,B & 310+ &
7. NH, 3R NF; & forae gfaga amerar iR § 3t =

3gar

7. NH;3 3R H,0 3] $r 3gpfa fapa Fagshes & Y 8 H,O A HEYSIUT NH; & HEiUwior 8
F BT ¥ THATST

8.7 3R oIS &Y F & A ¥R o
a8meT C
o 1T T IS YT 9 ¥ 11 dF F IR AEAR # fo@l (9% & 3 ) [9]

9. 3T 37 d2T & FH diF T FFEsTTEr Hir AfAT & w2 Texor tdiedr JAFAms fir gus
HFAFOT T¥edt @ HA § WG AIA I e 3naeiietor dedr AFARA i edd
IMTAEROT Teded & e §.

3gar



9.3mad 3R FHg Fr WA Fear fFa alies & ey g7 g dgond 39 ford aleh & aAsmwEr?

10. PCls & A # hybridisation &7 duTel &7 31&fr 3aer f Joolt A Yy g 31w o9 7y
g &2

11 AT BT v SN F gl A FIT A ded I TUMcHF STl Ao Tededr 310 § 2 9]
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faomT D
o M & IS YA 12 & 3R for@r [5]
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9. 0 st Loyl UL R ooiedl ueidedl alaBlod »at dizdl.
10.  yedlodl widladl Gl e g Hi Adl 52512 2UHAL Yot d1Rdl,
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UNIT TEST

STANDARD- 12 Total Marks:25
SUBJEST-CHEMISTRY Time: 1-Hour
CODE-052 Medium: English
PART-A

Select the proper choice and answer the following multiple choice questions. (Each

question is of 1 mark) [09]

1. Maximum covalency of nitrogen is

(A) 3 (B) 5 (C)4 (D)6

2. Which of the following are peroxoacids of sulphur?

(A) H2S0s and H2S20s (B) H2S0s and H2S207

(C) H2S207 and H2S:20s (D)H2S206and H2S207

3. Which of the following alcohols will yield the corresponding alkyl chloride on reaction with

concentrated HCI at room temperature?

(A) CH3CH2—CH2>—OH (B) CH3-CH2-CH(CH3)-OH

(C) CH3-CH2-CH(CH3)-CH20H (D) CH3-CH2-C(CHs)2-OH

4. Which of the following alkyl halides will undergo SN* reaction most readily?
(A) (CH3)3C—F (B) (CH3)sC—Cl

(C) (CH3)3C—Br (D) (CH3)3C—I

5. Which of the following compounds will react with sodium hydroxide solution in water?
(A) CeHsOH (B) CeéHsCH20H

(C) (CHs)3 COH (D) C2HsOH

6. Which of the following is benzylic alcohol?

(A) CeéHsCH2CH20H (B) CeH11CH20H

(C) CeHsCH(OH)CHs (D) CeHsCH2CH(OH)CHs

7. Cannizaro’s reaction is not given by

(A) 1-Methylcyclohexane carbaldehyde (B) Benzene carbaldehyde

(C) Methanal (D) Ethanal

8. In Clemmensen Reduction carbonyl compound is treated with
(A) Zinc amalgam + HCI (B) Sodium amalgam + HCI
(C) Zinc amalgam + HNO3 (D) Sodium amalgam + HNOs

9. The correct order of increasing acidic strength is

(A) Phenol < Ethanol < Chloroacetic acid < Acetic acid
(B) Ethanol < Phenol < Chloroacetic acid < Acetic acid
(C) Ethanol < Phenol < Acetic acid < Chloroacetic acid

(D) Chloroacetic acid < Acetic acid < Phenol < Ethanol




PART-B
SECTION A

Answer any three of the following questions. (Each question is of 2 marks) [06]
1. How the following conversion can be carried out?

tert-Butyl bromide to isobutyl bromide

2. Explain Wurtz Fittig reaction giving suitable example.

3. Give bromination reactions of phenol under different conditions.

4. Write structures of the products of the following reactions:

H,0/H'

() CH,-CH = CH, —22/1 |
o)
CH;—C —OCH,
(i) Il NaBH,
O s

5. Write the structures of the following compounds.
(i) a-Methoxypropionaldehyde
(ii) 2-Hydroxycyclopentane carbaldehyde
SECTION B
Answer any two of the following questions. (Each question is of 3 marks) [06]
6. Complete and balance the following reactions:
(i). Cu + HNOs(dilute) —
(ii). Zn + NHOs3 (conc) —»
(iii). P4 + HNOs (conc) —
7. What are ambident nucleophiles? Explain with an example.

8. Give the major products that are formed by heating each of the following ethers with HI.

. i
() CHyCH,CH-CH,;-O-CH,~CH, () CHyCH,CH O-C-CHyCH, @-CHQ—D—@

CH,

SECTION C

Answer any one of the following questions. (Each question carries 4 marks) [4]
9. Explain cross aldol condensation reaction.

10. Answer the following questions as asked:

(i). Give two examples to show the anomalous behaviour of fluorine. (2 marks)

(ii). How are XeOs and XeOF4 prepared? (2 marks)
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[PART-A]

o ollAUAA Yst ol 1 ol 9 wuglAscu ysiRell Yl 8. 2o [Aseu Ui € 531 Gdlr wUl. [09]
(Ueds Ystoll 1911 D)

1. /\Om(NH4OH)=
(A) Nmnaory + Nomaucy = Amenac) (B) A%mercy + Aomawriory = Amenaon)
(C) Aomqnacy + Almuiacy = Amenaon) (D) Amgey + Aomeneory - Ameumacy
2. Y 8 SN sl Sl R 3AS GUR sl Ueldle] (R55alat i 87

(A) ZnCl, (B) Zn
(C) MnO, (D) NH,CI

3. 25 °C MM, Sn + Cu? ----> Sn? + CuY(Sal MR E% o] Y GRI0.48 V & l

dluMial Ylsalell A d et HAUNls el a2

(A) 1.3 x 10 (B) 6.8 x 10*
(C) 4.9 x 10%° (D) 1.8 x 10™°

4. Wise] MRl sl sHoll Ylbal 87
(A) 9 oA (B) q &
(€) IRl yaur (D) Ud &

5 A +B - > oflusl ylsau 12 Aol = K[A][B]? &lal cll k oll AsH 9 U ?

(A) mol® L min? (B) mol L* min
(C) mol2 L? min (D) mol® L® min"*
6.Galus ol g Msl__ aectaudl 8.
(A) Ulsaell Plo Gt B) WEaell Acaucdl
() ulsauell ulzasal Gt (D) Ulsauloll A dq et AUANLS

7. 858 As YAl M2 AL WANLS of YI0.002 5" 8l cll doll ALY L AHA Sl AR
(A) 142.85 (B) 432.4 5

(C) 288.6 s (D) 34655



8. PbS el ZnS Rl AASHIEL HIA PbS AMAIL scll Flattctcdet Ut wclotis d3ld sl

Ueld GARLA 82

(A) ZnSO4 (B) NaOH
(C) NaCN (D) NH,CI

9. Cu oll [rsyal e(aet 520 ULl AL A3 HA B?

(A) FeSiO; (B) CaSiOs
(C) NagPO, (D) CaCOs
[PART-B]
(SECTION-A)
o o{lAoll Ust dletx 1 &l 3 oll & SHL Wclled UL (UAS Ys 2 JJQLall B.) [06]

1. B3setl ol STUR uGk2q] alall MRl 2Asel? Rl GrlR M2 %R 51RQL L.

% yn = -0.76 V, Ersou = 0.34 V
2. U(Balloll sH W AUEASAL A dglald wRUA.
3. UGseof [esyl ylzul wHlsR0L gl AHestal.

ull
3. [Rctust ugld ulsa sl sl wxestal.
(SECTION-B)

o o{lAoll Y ol6IR 4 ol 5 oll HIAL Y AS0loll Wellel UL (UAS Ys 3 9JQlell B) [06]
4. WA 53, “Yuu sHoll sl5As Ysaa 99% Y ol Ucl W2 ALl AHYA Ylsala

90% Y Bl Ul HE ALl HHA sRcll “HEl B.”
5. 298 K clluHlal oA wAAL S\l WA 2LRN.

Sn(3)|Sn2+(O.05M)||H+(O.02M)|H2(g)(1bar)|Pt(s)  E%e s, =-0.14V

el

5. [sc allggesll alale] (@AY dlQeussts amp [QAY dycle dd 3 sclls MR sl Y AGUR

sllule] 32¢f en Ut U A ARl 531 Al (URMIRAX e Ni-58 g mol*
0-16 g mol™)

(SECTION-C)
o o{lAcll Ul ololR 6 oll AL YAololl cllol UL (AL U 4 9 Qlall B)) [04]
6. 1 cm U™ Wl 50 cm A 6lleSoll ¥l @HLelt0.05 mol L™ NaOH ol slel@loll A

5.55 X 10% ohm & cl do{l WAUS AL, ALESAL WA HAR llsSll IR,



UNIT TEST

STD: 12 Total Marks: 25

SUBJECT: CHEMISTRY Time: 1 Hr

CODE: 052 Medium : English
[PART-A]

@ Following Question No. 1 to 9 are multiple choice type questions. Choose the proper choice
and answer. (Each question is of 1 mark) [09]

1. AOmNH,0H) =
(A) NOomaony + Almenmey - AOmoach) (B) Aomeucy + Amn,om) - APmeNao)
(C) Nomnacy + Almqnmucny - AlmqNaow) (D) Noycuicty + APmqNaon) - Almnm,cl)
2. Which substance is reduced at cathode when dry cell is working?
(A) ZnCl, (B) Zn
(C) MnO; (D) NH.CI

3. At 25 OC temperature, for the reaction, Sn + Cu2t ----- > Sn2+ + Cu the value of E0 is
0.48 V then what will be the equilibrium constant of the reaction?

(A) 1.3 x 108 (B) 6.8 x 104
(C) 4.9 x 1020 (D) 1.8 x 1016

4. What is the order of reaction of inversion of sucrose?

(A) zero (B) third

(C) pseudo first order (D) fourth
5.ForareactionA+B ------ >products, rate = k[A][B]? then what will be the unit of k?

(A) mol3 L-3 min2 (B) mol L1 min-!

(C) mol-2L2 min-? (D) mol-3 L3 min-!

6. The role of a catalyst is to change
(A) Gibbs energy of reaction (B) Reaction enthalpy

(C) Activation energy of reaction (D) Equilibrium constant of reaction
7. What will be the half reaction time of a reaction if the value of rate constant is 0.002 s-1?

(A) 142.8s (B)432.4s

(C) 288.6 s (D) 346.5 s

8. Which substance is added as a depressant in froth floatation method to separate only PbS
from the ore containing PbS and ZnS?
(A) ZnSO4 (B) NaOH

(C) NaCN (D) NH,4Cl




9. Which substance is obtained as a slag during extraction of copper?

(A) FeSiO3 (B) CaSiO3
(C) NazPO, (D) CaCOs
[PART-B]
(SECTION-A)
e Answer the following Question No. 1 to 3 in short. Each question is of 2 mark. [06]

1. Can copper sulphate solution be stored in a zinc container? Give suitable reason for your
answer.

E0zp2+ /20 =-0.76 V, E0¢y2+/cu = 0.34V
2. Give difference between order of reaction and molecularity.
3. Explain extraction of gold by chemical reactions.
OR
3. Explain calcination method with chemical equations.
(SECTION-B)
o Answer the following Question No. 4 and 5 as asked. Each question is of 3 mark. [06]

4. Prove that, “The time required for 99% completion of a first order reaction is double than the
time required for 90% completion.”

5. Calculate the potential of the following cell at 298 K.
Sn(s)|Sn2+(0.05M)| |H+(0.02M)|H2(g)(1bar)|Pt(s) ; E05n2+/sn =-0.14V

OR

5. Explain by calculation that what masses of the products will be liberated at electrodes when
nickel nitrate solution is electrolysed using 5 ampere current for 3 hours.

(Atomic mass: Ni-58 g mol-t, 0-16 g mol?t)
(SECTION-C)

@ Answer the following Question No. 6 as asked. This question is of 4 mark. [04]

6. The resistance of a column having diameter 1.0 cm and the length 50 cm containing solution
of 0.05 mol L1- NaOH is 5.55 X 103 ohm, then calculate its resistivity, conductivity and molar
conductivity.
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[PART-A]

o AT RU AT 1 § 9 T aFIfASS § | H& dved qHeg N & I for@l | [09]
(I 9T & 1 31 §)

L. Aomnmeom) -

(A) Nmnaory + Nomaucy = Aomenac) (B) Amercy + Aomumiory = Aomonaok)

(C) Aomenacy + Almuacy = Aomenaon) (D) Nmercy + Nomguaor) = Amency
2. Y Yol & HH Fel W HAWS W AT F a1 o1 RserereT giar ¢ |

(A) ZnCl, (B) Zn

(C) MnO, (D) NH,CI

3. 25 °C d@m@AT W Sn + Cu® ----> Sn** + Cu ufpar & AT E% &I &7 0.48 V E aY 8@
ATIHT T ihaT T Tl fgdien @41 g ?
(A) 1.3x 10° (B) 6.8 x 10*
(C) 4.9 x 10%° (D) 1.8 x 10™°

4. IN & gordA B UHAT BT A FA H;§ 2

(A w== (B) g

(C) e g2re (D) TgF
5 A+B - > 3ust gfshar & fow, afg asr = k[A][B]? a k & shs Fr gl 2

(A) mol® L min? (8) mol L™ min
(C) mol2 L2 min (D) mol® L® min™t
6. 3carge (3dotel) I SIFFT ..o Jeordr § ?
(A) i &7 Rrew Foit (B) wftmam &1 weeredy
(C) St & TRpIOT it (D) IR T ol 3Tl

7. ofg el veper ufshar & fow fERR 991 &7 AT 0.002 s § dF 31y ahrel e grem 2
(A) 142.8s (B) 432.4s

(C) 288.6 s (D) 346.5's



8. PbS 3R ZnS Jgad 3UEH H A Fad PbS &I GUF Flel hel3cTalde] TEUA A 3cUH & § H
et TT 9T AT ST |

(A) ZnSO4 (B) NaOH
(C) NaCN (D) NH,CI

9. Cu & fIshuT & R ol & &7 A HieT AT eIy 9rar ST ¢ |
(A) FeSiOs (B) CaSiO;
(C) NasPO, (D) CaCO;
[PART-B]
(SECTION-A)
ool AU 91T 1 & 3 dF & UREAT & HIAITT 3K GIoIT (Ich U%T & 2 3 §)  [06]
1. Fa7 S & 9 A S Tothe HT 8ol Sff Tohal & ? YT 3a¥ I FE& HROT & |
E%qer/z0 = -0.76 V, E%gecy = 0.34V
2. 9fshar 3iegshd 3R 3f0aehar & e 3R fora |
3. GHIHIUT A ALIA @ Al [FAehold &I IihaT Sl HASBT
3ryar

3. FHEoT ganT faedme fafer it sarer w1

(SECTION-B)

oI T T 4 5 dF & Ul  TAEAR 3R foral Tcded MA » 3 3w g | [06]

4. T8 Y AT "YUA - HA HT GiHAT A 99% Y A & [T oFle arell AT AT Tfshar s 90%
T T & T e arer AT ¥ ST B

5. AFAfaf@d ¥ & emf 298 K dTA W ATT dhIeiT
Sns)|SN?*(0.05M) | |H*(0.02M) |H,(g) (Lbar) [Pty  ; E°essn =-0.14V

31Ydar

5. fdsel slvge & fderget &1 fagcdievor 5 amp fYdURT & GaRT 3 € deh HRAW al 9T 3cdg &l
foRdelT geaTATeT gTed 8o | Ig 0T I HSNST | (WA &of : Ni-58 g mol*0-16 g mol?)

(SECTION-C)
oAl fET T WA 7.6 FH Ica¥ for@Y [04]

6. 1 cm I 3R 50 cm W&T$ % TH A N §TO0.05 mol L NaoH & graor &7 wferrer
5.55x10%hm § a 391 JfaRIedr, aTeehdl 3R AR ATelehdl &l Wisheld ShITolT |




UNIT TEST

STD : 12 ( SCIENCE STREAM ) TIME : 1: 00 HOUR
SUB : PHYSICS (054) MARKS : 25

Part A

e There are 9 objective questions in Part A and all questions are compulsory.
e The questions are serially numbered from 1 to 9 and each carries 1 mark .

e Choose appropriate options : [09]

1.

If R and L denote resistance and inductance respectively which of the following has dimension of
time?

A = ®) o o ® %

There are two coils A and B as shown in figure. A current starts flowing in B as shown, when A is
moved towards B and stops when A stops moving. The current in B is counter clockwise. B is kept
stationary when A moves. We can infer that

A B

O~ O
(A) there is a constant current in the clockwise direction in A.
(B) there is a varying current in A.
(C) there is no current in A.
(D) there is a constant current in the counterclockwise direction in A.
In one A.C. generator, brushes connected with slip rings become positive and negative alternatively at
the regular interval of 10 ms. Then angular frequency of this A.C. voltage would be ...... rad s’!
(A) 50 (B) 100 (C)50m (D) 100
Ina L — C — R circuit capacitance is changed from C to 2C. For the resonant frequency to remain
unchanged, the inductance should be changed from L to ......

(A) 4L (B) 2L © 5 ©) =

If the focal length of a lens for red and violet light rays respectively are fr and fv then which of the
following is true relationship ?

(A) fr > fv (B) fr > fv (C)fr=fv (D) fr < fv

A convex lens is immersed in a liquid, whose refractive index is equal to the refractive index of the
material of the lens. Then its focal length will ........

(A) become zero (B) remain unchanged (C) become infinite (D) none of these

If E and B represent electric and magnetic field vectors of the electromagnetic wave, the direction of
propagation of electromagnetic wave is along

(A) E (B) B (C) BxE (D) ExB
The dimensional formula of p, €; is ..........

(A) MOL2T? (B) MPL2T2 (C) MOLT (D) MOL1T?
For an AC given by | =50 cos (100t + 45°)A. The value of Iyms = ........ A

(A) 5042 (B) 25+/2 (C) 25 (D) Zero



Part B

Section : A

e Write any 03 (three) answers from the question no 1 to 5 given below. (Each carries 2 Marks) [06]

Derive equation of induced emf in the rod which is sliding on two sides of U shaped frame placed
perpendicular to magnetic field.

Obtain the resonant frequency wr of a series LCR circuit with L = 2.0 H, C =32 pF and R = 10 Q.
What is the Q-value of this circuit ?

Due to which reasons the energy losses do occurs in actual transformer ?

An object is placed at 5 cm in front of a concave mirror of radius of curvature 15 cm. Find the position,
nature, and magnification of the image in each case.

Obtain the equivalent focal length of combination of thin lenses placed in contact.

Section : B

e Write any 02 (two) answers from the question no 6 to 8 given below. (Each carries 3 Marks) [06]

Obtain the expression for the magnetic energy stored in a solenoid in terms of magnetic field B, area
A and length | of the solenoid.

Obtain an equation of current for AC voltage applied to an inductor and draw a graph of V and I.

(i) If f=0.5 m for a glass lens, what is the power of the lens ?

(i) The radii of curvature of the faces of a double convex lens are 10 cm and 15 cm. Its focal length is
12 cm. What is the refractive index of glass ?

(iii) A convex lens has 20 cm focal length in air. What is focal length in water ?

(Refractive index of air-water = 1.33, refractive index for air-glass = 1.5.)

Section : C

e Write any 01 (one) answer from the question no 9 and 10 given below. (Each carries 4 Marks) [04]

9.

10.

Figure shows a series LCR circuit connected to a variable frequency 230 V source. L = 5.0 H,
C =280 uF, R=40 Q.

ECG

O,
11
11
@)

L
(a) Determine the source frequency which drives the circuit in resonance.
(b) Obtain the impedance of the circuit and the amplitude of current at the resonating frequency.
(c) Determine the rms potential drops across the three elements of the circuit.
Obtain the relation between incidence angle, emergence angle, prism angle and deviation angle for
refraction through prism.

* * k% * *
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UNIT TEST

Std. 12 (Science Stream) Time : 1 hour
Subject : Physics Marks : 25
PART : A

e There are 9 objective type questions in Part A and all questions are compulsory.

e The questions are serially numbered from 1 to 9 and each carries 1 mark.
€ Choose appropriate option : [9]
1. A steady current flows in a metallic conductor of non-uniform cross-section. Which
of these quantities is constant along the conductor ?
(A) Current (B) Current density  (C) Electric field (D) Drift-speed
2. Two conductors are made of the same material and have the same length. Conductor
A is a solid wire of diameter 1 mm. Conductor B is a hollow tube of outer diameter
2 mm and inner diameter 1 mm. The ratio of resistance R, t0 Ry is .......... .
A) 11 (B) 2:1 (C) 3:1 (D)1:3
3. Arristance R is to be measured using a meter bridge. Student chooses the standard
resistance S to be 100 Q. He finds the null point at I, = 2.9 cm. He is told to
attempt to improve the accuracy. Which of the following is a useful way ?
(A) He should measure |, more accurately.
(B) He should change S to 1000 Q and repeat the experiment.
(C) He should change S to 3 Q and repeat the experiment.
(D) He should give up hope of a more accurate measurement with a meter bridge.
4. The dimentional formula of conductivity is .......... :
(A) ML3T3A2  (B) M1L3T3A2 (C) ML2T-3A2 (D) M1L-2T13A2
5.  In a potentiometer arrangement, a cell of emf 1.25 V gives a balance point at
35 cm length of wire. If the cell is replaced by another cell and the balance
point shifts to 63 cm, what is the emf of the second cell ?
(A) 235V (B) 3.52 V (C) 1.80 V (D)2.25 V
6. A straight wire of mass 200 g and length 1.5 m carries a current of 2 A. To suspended
it in mid-air by a uniform horizontal magnetic field E), the magnitude of magnetic
field B = .......... T
(A) 0.65 (B) 1.30 (C) 1.53 (D)0.25
7. The SI unit of magnetic moment is .......... :
(A) Am (B) Nm rad! (C) TmAL (D)JT1
8. A long straight wire carries a current of 35 A. What is the magnitude of the field

at a point 20 cm from the wire ?
(A) 11.14 x 106 T (B) 35 x 106 T
(C) 70 x 10° T (D) 1275 x 106 T

[1]
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The gyro-magnetic ratio of an electron in an H-atom, according to Bohr mode
IS wovinnn :

(A) Depandent of which orbit it is in.

(B) negative

(C) positive

(D) increase with the quantum number n.

PART : B

Section - A
Question no. 1 to 3 do as directed (Each question carries 2 marks) [6]

What is current density ? Obtain ohm’s law in vector form.
Explain potentiometer principle.
OR
A silver wire has a resistance of 2.1 Q at 27.5 °C and a resistance of 2.7 Q at
100 °C. Determine the temperature coefficient of resistivity of silver.

What is shunt ? Derive the equation of shunt.

Section-B_
Question no. 4 and 5 do as directed (Each question carries 3 marks) [6]
Derive expression for magnetic field on the axis of a circular current loop.
A storage battery of emf 8 V and internal resistance 0.5 Q is being charged by a
120 V dc supply using a series resistor of 15.5 Q. What is the terminal voltage of
the battery during charging ? What is the purpose of having a series resistor in the
charging circuit ?

OR R=6Q
ANV

In given figure, how much energy is absorbed by
electrons from the initial state of no current (ingore
thermal motion) to the state of drift velocity ? Number
of electrons per unit volume = 10%° m=3, length of
circuit = 10 cm, cross-section area = 1 (mm)?2.

Section - C

<__
I
o
<

Answer the following question : [4]

A room has AC run for 5 hours a day at a voltage of 220 V. The wiring of the room
consists of Cu of 1 mm radius and a length of 10 m. Power consumption per day
is 10 commercial units. What fraction of it goes in the joule heating in wires ? What
would happen if the wiring is made of aluminium of the same dimensions ?

[pcy =17 x108Qm, py =27 x10° Qm]
OR

Derive the equation of torque on a Rectangular Current loop in a uniform magnetic
field.
* o o

[2]
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PART - A
&0 g H RUNL-A T a¥qrss 9K A T 9 weA| ety Ay ¥
yestt Y FA &A1 1 ¥ 9 T YAF WA FT 0T 1 B [09]

(1) T o1 ATeh & 3T Fic ¥ TR 4R 9a1g 81 W 8, af S0 § Hie
oy afdr arere & 3R gef?
(A) ERT (B) ORI Tefeq (C) faya & (D) 3T9aTE el

(2) aF TSI T & 91T A §oF § TAT 37T a5 off AT g1 Ield A Tah drR
¢ TS er =9 1 mm § TT drefeh B Ueh WiEell T« & foi@er Sgdl same
2 mm qUT 3T H AE 1 mm gl Y Ry & Rp T 36T e
(A)1:1 (B)2:1 (€)3:1 (D)4:1

(3) 9feRITr R &1 #HieX AF & A 1 Teh e o Jiaier S & 100 Q @M 1 38
Hqferd g 11=2.9 cm ¥ UrT 38 3§ A & g A & [T Sgl I r dr 38
o T T ¥ fAredt & @ Fia o ugfa 3Tl geh
(A) ar |y @ 3R Ear (3reD) & A
(B) @8 s @ 1000 Q # Scolhd arad & AT M|
(C)dg s ' 3 Q H H dgolehl arad § T |
(D) 38 #eX A T 39T AT IR Y&l & AGA & fAT 38 & Sreah|

(4) QY TRl T TFAT o
(A) ML3T3A?2 (B) MLL3T3A2 (C) ML2T-3A2 (D) M1L2T3A2

(5) e TIERIMAET cFaedT & 1.25 v TIYT dlgsh aof & Teh Aol N HJolol foig
dR & 35 cm dEs W 9Ied giar gl Ife 8 Ao & Rt 3w d gant
wfareid &Y fear S ar ddee &g 63 cm W TR 8 Sar g1 g8
el &1 TAEaT argeh oo FAT g
(A)2.35V (B)3.52V (C) 1.80 V (D) 2.25V

(6) 200 g EEFAT AT 1.5 m &a1g & fohell W AR @ 2A e aRT vyarigd &
W &1 T R vewAe &ifae B geh 817 garr 9y % da & feifaa B
ehTel &1 TRATT B = oo, T.

(A) 0.65 (B) 1.30 (C) 1.53 (D) 0.25




(7) TIBRT MO T S| ATTE .o gl
(A) Am (B) Nm rad? (Q TmAl (D) Tt

(8) FH o WYY AR A 35 A fayd unr warfed & W g1 AR § 20 cm Gy W

fondll g o Yaehia &7 T IRATOT AT §T?

(A)11.14 x 106 T (B) 35 x 106 T (C) 70 x 106 T (D) 12.75 x 106 T
(9) X HISHT & ITAR H-IATI] & SoIFelal &l YUT Ydehld 37IuTd
()ﬁvaﬁaﬂ:ﬁr% 389 TR e gl
(B) FoTcHAS
(C) T=licH®
(D) YTl EEAT n & HY F&cT &

PART — B
aamer- A

< A/ RU ¥ geT FAF 1 ¥ 3 F HJHT 3N 3 [06]
(JAF 9T & 2 3+ )
(1) 9RT elca FAT &1 TRY &7 & 3F &7 Fww FAwfaw |
(2) e &1 RAgid THsRT |
AYdar

f@eay & fardl ar &1 27.5 °C W gfader 2.1 Q 3 100°C X 9feaier 2.7 Q
¢l fRear & yfeRIgeRdT dr9-aqoTes A1 AT

(3) 2 FAT §? AT & FA AT HIfIT|

Rsmer-8

< T T T ge FAF 4 § 5 F AR T 3 AT [06]
(I AF 9T & 3 IHF )

(4) Ay GRTATET JATHRR TN & 36T TR T &7 FT FI 9o HY|

(5) 8 V fatrd argesr ool I T HaTeleh e @ 3R Gfaier 0.5Q 8

AofighA A 15.5 Q & AU H1 39T F& 120 V & dc Fd garT drel

forar ST &1 O 810 9EY SclY Y i ad dieear T §? Ireiery gRuy #
JARIUS o AofshaT & TG Pl T FIT 3227 67



FrYar
QT 78 R & 38R e Selaglel RIS e, S faYd uRT g1 ¢ &
3YATE J97 HT JIEAT H JATAT § ol ohdell 31T JaAMWT gl g7
Ui A H ST dr g'ar = 102 m?
g9y (CIRCUIT) &7 &&rs = 10 cm
IIEY FIC T &TB = 1 (mm)?

amer-C
% g RE I yeaT &1 3T &1 (3H T & 4 3% B) [05]

(6) Tw HFAX A 220V dAreear & AC f&d & 5 €¢ TaIdm gl 38 A H CU (FIN)
F ar g TEdh Bear 1 mm 3R @& 10 m g1 & T uraw (ufFa)
39T 10 unit g1aT &1 fhas &1 & 3§ d) F & 397 &fd (Joule Heating)

gl 3R I} arR vegfafasgsr @1 g ar &= ghem?
[Scu = 1.7 x 10® Qm,Pa=2.7% 10% Qm]
AYdar

Tsh HA Yo &1F H AR [AYT ORI 9197 R gl YT &7 I AT
fferT



UNIT TEST

STANDARD -11 Total Marks : 25

SUBJECT-CHEMISTRY Time: 1 Hour

CODE-052 Medium: English
SECTION A

Answer the following Q1 to Q7 as directed. (Each question is of 1 mark). [07]
1. What would be the SI unit for the quantity pV 2T 2/n ?

2. The pressure of a 1:4 mixture of dihydrogen and dioxygen enclosed in a vessel is one
atmosphere. What would be the partial pressure of dioxygen? (At mass: H =1, O = 16)

(A) 0.8x105 atm (B) 0.008 Nm-2

(C) 8x10%* Nm™ (D) 0.25 atm

3. AU%f combustion of methane is — X kJ mol-1. The value of AHC is
(A) = AU° (B) > AU°

(C) < AUC (D) = 0

4. Given: N2(g) + 3Hz2(g) — 2NH3(g) ; ArH%= -92.4 kJ mol!
What is the standard enthalpy of formation of NH3 gas?

5. Write Oxidation number of oxygen in O2Fa.
6. Which alkali metal ion has maximum degree of hydration?
7. Complete and balance the reaction: BeClz + LiAlHs —
SECTION B
Answer any two of the following Q8 to Q10. (Each question is of 2 marks) [04]

8. What will be the pressure exerted by a mixture of 3.2 g of methane and 4.4 g of carbon
dioxide contained in a 9 dm?3 flask at 27 °C? (At mass: H=1,C = 12, O = 16)

9. Justify that the reaction: 2Cu20(s) + Cu2S(s) — 6Cu(s) + SO2(g) is a redox reaction. Also
identify the species which acts as an oxidant and which acts as a reductant.

10. Give main points of diagonal relationship between Beryllium and Aluminium.
SECTION C
Answer any three of the following Q11 to Q15. (Each question is of 3 marks) [09]

11. The combustion of one mole of benzene takes place at 298 K and 1 atm. After
combustion, CO2(g) and H20 (l) are produced and 3267.0 kJ of heat is liberated. Calculate
the standard enthalpy of formation, A#+°of benzene.

Standard enthalpies of formation of CO2(g) and H20O(l) are -393.5 kJ mol~! and -285.83 kJ
mol=! respectively.




12. Balance the following redox reaction by ion - electron method :
Cr.07% (aq) + S02 (g) —» Cr3* (aq) + SO4% (aq) (acidic medium)

13. Balance the following redox reaction in basic medium by oxidation humber method.

P4 (s) + OH" (aq) — PHz (g) + H2PO2'" (aq)

14. Write main points showing anomalous behavior of Lithium.

15. Comment on each of the following observations:
(a) The mobilities of the alkali metal ions in agueous solution are Li* < Na* < K* < Rb* < Cs*
(b) Lithium is the only alkali metal to form a nitride directly.
(c) E° for M2* (aq) + 2e— > M(s) (where M = Ca, Sr or Ba) is nearly constant.

SECTION D
Answer any one of the following Q16 to Q17. (Each question carries 5 marks) [05]
16. Answer as asked:

(i). Find out the value of equilibrium constant for the following reaction at 298 K.
2NH3(g) + CO2(g) —» NH2CONH2 (aq) + H20 ()
Standard Gibbs energy change, A:G %at the given temperature is -13.6 kJ mol= (2 marks)

(ii). At 60°C, dinitrogen tetroxide is 50 per cent dissociated. Calculate the standard free
energy change at this temperature and at one atmosphere. (3 marks)

17. Answer as asked:

(i). Density of a gas is found to be 5.46 g/dm3 at 27 °C at 2 bar pressure. What will be its
density at STP? (2 marks)

(ii). Pay load is defined as the difference between the mass of displaced air and the mass of

the balloon. Calculate the pay load when a balloon of radius 10 m, mass 100 kg is filled with

helium at 1.66 bar at 27°C. (Density of air = 1.2 kg m=3 and R = 0.083 bar dm3 K™ mol1).
(3 marks)




THA FHIET
et - 11 0T - 25
fawr - e e AT - 19
13 - 052 AegH - Ry
[Remer-Al
@ W 7. 1 § 7 aF FT RAIAR 3R A [07]

(TAF 9T FT 1-37F ¥)

(1) PV2T?n fr & faw S| s&1$ &1 gef?

(2) T 9T H SIETSoT 3R SIS INadsied Hl 1:4 & Heqard H A7
e 1-arAvSH ¢l ST JIeFdietel &l 3HifIeh a1d F1 glam?

(A) 0.8x105 atm (B) 0.008 Nm-2
(C) 8x10* Nm™ (D) 0.25 atm

(3) fAYST & BT I AU° Hed -X kd mol' &1 & AH® & He T gram?
(A) =AU° (B) >AU° (C) <AU® (D) =0

(4) Na(g) + 3Ha(g) » 2NH3 (g) ; AH°= - 92 4 kJ mol™ &I & NH; 3
$T AR AT T-dedy Fa7 87

(5) O.F, H 3TFHIST T FEISHA 3ieh Tl

(6) fora & T 3T o STelIROT 3L (STeroled T-ded) &l HgdH

AT 87

(7) 9fsham o7 &¥eh Hedfeld A - Becl, + LiAIH, -
[fa911e1-B]
M Ruaw yed &1, 8 & 10 F ¥ Rt off aF wealr & 39 RSw) [04]
(IAF W8T & 2 3P ©)
(8) Ife 27° WX 9 dm® «TRAr arel Farse # 3.2 IH AAT qUT 4.4, IH
Pl SISFATSS I THHUT & df ST &g FAT BIM?
(9) g Friow Fr arfaf@a sfafear sy sfafear g
2Cu,0 + CusSi) = 6CUs) + S0y
(10) NFATH Td TYfAfATA A AT dreeyr foh Aeg gaAEaT fogn|




[[a9mer-C]

R Ru are g 1. 11 &§ 15 & F frelt st e qeat & 3w o [09]

(AP T F 3 3% )

(11) oot & TS AT FT gg 298 K TF 1 atm I BT &l GgaT & 3Hed
CoyqWd H,Oy) S &1 Tur 3267.0 KJ. 34T foaera gicll g1 deailel &
forT A favas T-dedt &1 Iurar fifsiwl CO2(g) Ta H,O() & forw
Al foaed T-dedt & AR Faer -393.5 K.J. Mol ta -285.83 K.J.
MOL™" g

(12) 3= el fafer garr fAefaf@d WEea faferar a1 gdfad w3
Cr,0/% + S02(g) — Cr*(aq) + SO.*(aq) (3FelT-ATEIH)

(13) o1 W fATHAr i 3nfFaaor 3 [T arT dgfed H|
P4(s) + OH" (aq) —» PHs (g) + H, PO (aq)

(14) NfATH T 3T FaeR Al arel HET g3t 1 forn|

(15) TArAfaf@a # & 9 9gtor X feouohr faf@w|

(1) ST faerelt & &R erd 3= i arfaeierdr
Li* < Na* < K* < Rb* < CS* %a & g gl
(2) NfITH v A TH &R U &1 S ASerss Sl gl
(3) M?**(ag)+2e- — M(s) (ST M=Ca, Sr Ba) E o811 f&aie g

[fa31mer-D]
A Re arv 92T 1. 16 & 17 # ¥ Rl iy v M)y & 3} RRfSwl  [05]
(TP 9T & 5 3% )

(16) (i) FT=ITaf@d FRHAT F AT 298 K W AT WIF FI A AT HITST
2NHs3(g) + CO2(g) - NH2CONH:z (aq) + H20 (1) ’T arqe AT+
fSest 39T AG T AT -13.6 k] mol-!

(ii) 60°C ATIHTT STBATSeIoTeT celFdss 50% [AAfad giar &1 &
AIAST &9 Td S8 a9 9 HAleleh HeFd-3oll-aRacdel & 01T HIfIC|




(17) (i) I 27°C OTT AT 2 SR &9 W THAF HT Teicd 5.46 g/dm3 gl dl
ST.P. WX SHHT Helcd FIT GIAM?
(ii) FeIN & AR TUT TS a1 & HR & AR H 9ells Fgd ol IS
27°CW 10 m F¥SA1 ared IeaR # 1.66 SR 9 100 kg feferaer sy

ST T 9ells &1 IM0TT hIfSTU| (AT T elcd = 1.2 kg m=3 dUT
R = 0.083 bar dm3 K1 mol?)
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UNIT TEST

STD : 11 ( SCIENCE STREAM ) TIME : 1: 00 HOUR
SUB : PHYSICS (054) MARKS : 25
Section A

Do as directed. (Each carries 1 mark) [05]

1. What will be the stopping distance if the initial velocity is doubled ?

2. Ratio of distances covered by object falling freely under gravity in 15t, 2"@and 3" second is ................. :
(A)1:3:5 B)1:2:5 C©1:4:9 (D)1:5:9

3. What does the area of v — t graph of moving object represent ?

4. Pick out the only vector quantity in the following list :

Temperature, pressure, impulse, time, power, total path length, energy, gravitational potential,
coefficient of friction, charge.

5. Which one of the following statements is incorrect ?

(A) Coefficient of sliding friction has dimensions of length.

(B) Rolling friction is smaller than sliding friction.

(C) Frictional force oppose the relative motion.

(D) Limiting value of static friction is directly proportional to normal reactions.
Section B

Answer in short for the following questions. (Each carries 2 marks) [06]

6. A jet airplane travelling at the speed of 400 km h ejects its products of combustion at the speed of
1200 km h relative to the jet plane. What is the speed of the latter with respect to an observer on the
ground ?

7. “Explain Triangle method of vector addition.”

OR
Rain is falling vertically with a speed of 30 ms. A woman rides a bicycle with a speed of 10 ms* in the
north to south direction. What is the direction in which she should hold her umbrella ?

8. Determine the maximum acceleration of the train in which a box lying on its floor will remain stationary,
given that the co-efficient of static friction between the box and the train’s floor is 0.15.

Section C
Answer the following questions. (Each carries 3 marks) [09]
9. Derive the equations of uniformly accelerated motion by graphical method.

OR
Two trains A and B of length 400 m each are moving on two parallel tracks with a uniform speed of
72 km htin the same direction, with A ahead of B. The driver of B decides to overtake A and accelerates
by 1 m s2. If after 50 s, the guard of B just brushes past the driver of A, what was the original distance
between them ?

10. A stone tied to the end of a string 90 cm long is whirled in a horizontal circle with a constant speed. If the

stone makes 15 revolutions in 30 s, what is the magnitude and direction of acceleration of the stone ?

11. Obtain the formula for the maximum safe speed of a vehicle on a level curved road.



Section D

Answer the following question. [05]

12. (a) Derive the formula for maximum height attained by a projectile.
(b) What is Horizontal range of the projectile ? Derive it's formula.
OR

A particle starts from origin at t = 0 with a velocity 5.0 ims® and moves in x-y plane under action of a
force which produces a constant acceleration of (3.0 i+20 ]) ms? (a) What is the y - coordinate of the

particle at the instant its x - coordinate is 84 m ? (b) What is the speed of the patrticle at this time ?

* Kk Kk ok Kk
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UNIT TEST

STANDARD - 11 (E) TOTAL MARKS — 25

SUBJECT — BIOLOGY TIME - 1 HOUR

SUBJECT CODE - 056 MEDIUM - ENGLISH
Section— A

Do as directed. Each question carries 1 marks. [05]
(1) Bioluminescence property is well-marked in .......cccceveveivenene.
(a) Cnidaria (b) Platyhelminthes
(c) Ctenophora (d) Mollusca
(2) Define the term: (a) actinomorphic
(b) Placentation
(3) Fill in the blank:
............................ junctions perform cementing to keep neighbouring
cells together.
(4) Give the scientific name of:
(a) earthworm (b) frog
(5) What are inclusion bodies?

Section — B
Answer the following questions. Each carries 2 marks. [06]

Q.6 Name two cell-organelles that are double membrane bound.
Mention their important characteristics. (2 points at least for
both the organelles.)

Q.7 Which is the excretory structure present in earthworm? Describe
their types along with their name & number of segment where they
are located?

Q.8 Draw a floral diagram for Allium cepa.

OR




Explain with diagram : valvate aestivation

Section = C
+* Answer the following questions. Each carries 3 marks. [09]

Q.9 List the modifications that are observed in birds that help them
fly.
OR
Give difference between: Chondrichthyes and Osteichthyes
Q.10 Describe the types of flower on the basis of position of ovary.
(Diagram is necessary)

Q.11 Explain with diagram fluid mosaic model of plasma membrane.

Section—D

** Answer the following question. It carries 4 marks. [05]
Q.12 Describe various types of epithelial tissues with the help of the
labelled diagrams. (any five)
OR
(1) Explain : Digestive system of earthworm (Diagram is not necessary)

(2) Show diagrammatic representation of internal organs of frog

showing complete digestive system.
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UNIT TEST

STANDARD - 12™ (E) TOTAL MARKS - 25
SUBIJECT - BIOLOGY TIME -1 HOUR
SUBJECT CODE - 056 MEDIUM - ENGLISH
Part - A
Section — A
+* Do as directed. Each question carries 1 marks. [09]

(1) How many types of gamete will be produced by individuals of
aaBBCc genotype?
(@) Two  (b) Four (c) Three (d)Six

(2) When both alleles of a pair are fully expressed in a heterozygote, they

are called
(a) Multiple alleles (b) Co-dominants
(c) Recessive alleles (d) incomplete-dominants

(3) Ranveer is having colour-blindness and married to Sheela, who is not
Colour blind. What is the chance that their son will have the disease?
(a) 100% (b) 50% (c)25%  (d) 0%
(4) The transforming substance of pneumococcus in Griffith’s experiment
was
(a) Protein (b) RNA (c) DNA (d) Polysaccharide
(5) A sequence of three RNA base can function as
A Codon B gene C anticodon D nucleosides

(@)A,C (b)A,B,C,D (c)B,C,D (d)A,B,C

(6) Which of the following represents a bond between a purine and
pyrimidine in that order?

(@)C-T (b)G-A (c)G-C (d)T-A



(7) Which of the following non-infectious disease is a major cause of death
in human beings?
(a) AIDS  (b) Cirrhosis  (c) Cancer (d) Asthma

(8) In leukemia there is tremendous increase in the number of
(a) RBC (b) Immature cells
(c) WBC (d) Both WBC and Immature cells

(9) Which of the following disease cause chronic inflammation in the
Lymphatic vessels of the lower limb that results into its massive swelling?

(a) Ascariasis  (b) Filariasis (c) ameobiasis (d) trypanosomiasis

Part-B
Section— A

s Answer the following questions. Each carries 2 marks. [06]
Q.10 What is point mutation? Give an example.
Q.11 Which criteria much fulfill by a molecule that can act as a genetic
material?
Q.12 Differentiate — Active and Passive immunity and give examples of
each:
OR

Describe briefly : Types of barrier for Innate immunity.

Section—B

+* Answer the following questions. Each carries 3 marks. [06]
Q.13 List salient features of genetic code.
OR
Explain : Packaging of DNA in eukaryotic cell.
Q.14 What is the mechanism by which the AIDS virus causes deficiency of

immune system of the infected person?



Section — C

*» Answer the following question. It carries 4 marks. [04]
Q.15 Explain the law of Independent Assortment using dihybrid cross.
OR
Explain : (1) Sickle — Cell anaemia

(2)Klinefelter’s syndrome
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UNIT TEST

STD : 11 ( SCIENCE STREAM ) TIME : 1: 00 HOUR

SUB : PHYSICS (054) MARKS : 25
Section A

Do as directed. Question no. 1 to 7. [Each carries 1 Mark] [07]

1. A body is falling freely under the action of gravity alone in vacuum. Which of the following
quantities remain constant during the fall ?
(A) Kinetic energy (B) Potential energy
(C) Total mechanical energy (D) Total linear momentum

2. Abody is initially at rest. It undergoes one-dimensional motion with constant acceleration.

The power delivered to it at time t is proportional to
1 3

(A) t2 (B) t (C) t2 (D) t?

3. The potential energy of a satellite is — 8x10° J, then what is its binding energy ?

g
5. If the resultant external force is zero then agm = ...... and vem=......

4. Mention dimensional formula of (9]

6. If|A xB|=|A-B| thenangle between A and B'is ......

7. Iftorque acting on a rigid body is zero, then angular momentum will remain constant. True / False

Section B

Write any 02 (two) answers from the question no. 8 to 10 given below. [Each carries2 mark] [04]

8. Derive the work energy theorem for a variable force exerted on a body in one dimension.

9. Derive an expressions for the kinetic energy on an inclined plane of inclination 6 for the body rolling
without sliding.

10. Derive the equation for variation of g due to height from the surface of earth.

Section C

Write any 03 (three) answers from the question no. 11 to 15 given below. [Each carries 3 mark] [09]

11. A rain drop of radius 2 mm falls from a height of 500 m above the ground. It falls with decreasing
acceleration (due to viscous resistance of the air) until at half its original height, it attains its maximum
(terminal) speed, and moves with uniform speed thereafter. What is the work done by the gravitational
force on the drop in the first and second half of its journey ? What is the work done by the resistive
force in the entire journey if its speed on reaching the ground is 10 ms™ ?

12. Explain the torque acting on a particle.

13. The angular speed of a motor wheel is increased from 1200 rpm to 3120 rpm in 16 seconds. (i) What
is its angular acceleration, assuming the acceleration to be uniform? (ii) How many revolutions does
the engine make during this time ?

14. Obtain an equation of orbital time-period of a satellite revolves around the earth.



15. A rocket is fired from the earth towards the sun. At what distance from the earth’s centre is the

gravitational force on the rocket zero ? Mass of the sun = 2 x 10%° kg mass of the earth = 6 x 10%* kg.
Neglect the effect of other planets etc. (orbital radius = 1.5 x 101! m).

Section D

e Write any 01 (one) answer from the question no. 16 & 17 given below. [Each carries 5 mark] [05]

16. A bob of mass m is suspended by a light string of length L. It is imparted a horizontal velocity vo at

17.

the lowest point A such that it completes a semicircular trajectory in the vertical plane with the string
becoming slack only on reaching the topmost point, C. This is shown in figure. Obtain an expression

for (i) vo (ii) the speeds at points B and C (iii) the ratio of the kinetic energies (ﬁj at B and C.

Cc
Comment on the nature of the trajectory of the bob after it reaches the point C.

=5 1)
A(mg *

A cord of negligible mass is wound round the rim of a fly wheel of mass 20 kg and radius 20 cm. A
steady pull of 25 N is applied on the cord as shown in figure. The flywheel is mounted on a horizontal
axle with frictionless bearings.

(a) Compute the angular acceleration of the wheel.

(b) Find the work done by the pull, when 2m of the cord is unwound.

(c) Find also the Kinetic energy of the wheel at this point. Assume that the wheel starts from rest.

(d) Compare answers to parts (b) and (c).

* * % * %



I5H, 1121

1201 12 ( (At uals ) AHA : 1:00 s4lls
[Awx : clifas(asi (054) 5a0 : 25
PART - A
o Sddsll UsiRAL 9 UrL HISY FAUA [09]
1. 4L R el L 2 viesH 249204 24 SUHUSA 20AdL S dL ..., 21 AR URHIEL HR1G 69,
L R R L
A) — B) — C) . /— D) , f—
(A) R (B) 1 © 3 (D) R
2. w15(dHi o 2ol A 214 B eaAd 9. 2u5(Aui calledl vt oz 0] A (42 Gl lR 2420 B Hi Udle URkd
2l 2l woL sU12 AL A A 420U B d23 IUld 52AAAML 2UA 12 90 B HI 2[RI stdiodl 24412 [Qunadl [Baml
UL URA 214 9. AHYU WAL 2R 220 B Raz 9, dl sél asits, ...
A B
v
(A) 24200 A Hi AUl [2aHE 2120 Nl 4G 89, (B) 2lAAL A HI 4HA A1A GEdldL UALS A6 9.
(C) 201 A Hi UALS AL 2l (D) 2o A Hi [Aumudl [zaumi 2120 ndls 46 €.
3. 25 A.C. 6722241 10 mMs <l AHAUI [Retu KoL A18A1L A2l AR1528 Al 2l B0 oddl M2 89, dl Holdl dieesy<]
silla »uaf ... rad s™ e,
(A) 50 (B) 100 (C) 50 7 (D) 100 7
4. L-C-R ulzuami 5uldz-us Het C 4l oizdlda 2C A4 9. o7l vAlzld 219 2120 268d] Sl dl Hesseud Her L
dl slealSa . 2
L L
(A) 4L (B) 2L © = (D) —
2 4
5. Qe vt oA 2oL Ustal (5200 W2 516 Qe segdondoll viqsi fy id £, $la dl dl2amigl sai 2ol u1=?
A) f, =1, B) fy >f, ©) fy =1, (D) f, <1,
6. [0 Qetel oyl ASIHAALS Aetell gl A5lAAAls or2Al 9 Al UALEIHE gousauHi 2ud. 69, 20l dedl segdous
(A) 44 23 (B) 444l. (C) 129, (D) i<id 24,
7. &% Ao Aol AZ B 249 oSl Al Al 2idsi E A B G, dl [dsdl sl wazedl
(A) E (B) B (C) BxE (D) ExB
8. Ly € i WRHIELS U ... 9.
(A) M°L*T? (B) M°L°T? (C) M°L'T™ (D) M°L'T
9. wiid AC YA | =50 cos(100 t+45° )iz ulud rms 4t ... AB.

(A) 5042 (B) 25+/2 (C) 25 (D) 9



9.

10.

PART -B

(Aol - A

{12 20 Ure 4012 1 241 5 izl 51 uRL 8L (03) Ur<lL sxalled Bl [06]

~ =~

LoASAAARL #oA otz U vzl dlssel ol et uz ad 5241 A0 Gzmadl aldsli emf Hizd 43 Hadl.
L=20H,C=32pF s 10 Q alon L-C-R uil uRua 112 i4die 204[d @, Hadl. 24 uluad Q Het 524,
¢ ?

UA(A5 21U A el 51200 GloAdl 4 214 69 2

25 {0 AL AsALBEAL 15 cm 9. w1l vl A1l UIH 4244 5 om g2 Hsdl 2L WAl 22414, U512 244
Hizaull £25 Brami Haal,

AUSHL AUAL ULANL deell AUyl UHARL SegdouS Yot Hadl.

[A®i10 - B

12 U U2 042 6 ¢ 8 Higl SIS Bl 61 (02) URAlell S¥llo] Bl [06]

Yoisla @t B, A0 A vt AUAALDSAL Aot | el UeiHi AUAAUSHL AAlSA 2oi5ld Blon Hie »at Hadl.

~

SUR2z @) wize oLl dless Hi2 Ualed WHls0 HOAL 244 V d2lL ] L SUEvL EiRL

(i) sl |2 F=0.5maid dl deedl Yz 524l 9l ?

(i) (g - oleotio dl oid otsyiidl AsdiBEiestL 21451 10 cm 2id 15 cm 9. d«il Segeotls) 12 cm Gid dl @il
ced (512l) aslHadis szl €9l ?

(iii) 215 oAl Aol SAUHI Segdottd 20 cm 9. dl WAL A<l segeons s2¢ll wal ? (sar-uelldl asleia-dis 1.33
89, gAl-512 HI2 A5lMAis 1.5 €9.)

[AcielL - C

12 WU U 4042 9 il 10 Higl 51 UBL s (01) URAAL SxaloL UL [04]

w2l UHIEL AlAd (edl wsiH ddl) 24191l 230 V ac 234d L-C-R u[kua «1a sriid 9.
L=50H,C=80pF,R=40Q .

MWWV
R

E® =0

IO
L

(a) uRuaA 2die-l Ralaui dlaal w2 wlid«dl 214 <55l 52,

(D) Bt A dot uRuzAlL SFUSY 2 NAlseAl SU[AAIR M.

(€) uRuaAl A0 U251l 61 981 422l rms dle2sy ([RaldHid dslad) eliHl.

My, A48 2dl aslean Hiz piuldsiel, [omasiel, Mausiel 2id [QAa-dsio a4l 2o 4adl.

* * * * *



	12S186058
	12S200520
	12S234180
	12S264057
	12S325953
	STD_11_રસાયણ વિજ્ઞાન (ગુજરાતી)
	STD_11_રસાયણ વિજ્ઞાન (અંગ્રેજી)
	STD_11_રસાયણ વિજ્ઞાન (હિન્દી)

	12S417838
	12S539696
	12S572988
	12S668013
	STD_રસાયણ વિજ્ઞાન (ગુજરાતી)
	STD_12_રસાયણ વિજ્ઞાન (અંગ્રેજી)
	STD_12_રસાયણ વિજ્ઞાન (હિન્દી)

	12S669498
	12S678224
	STD_12_ભૌતિક વિજ્ઞાન (ગુજરાતી)
	STD_12_ભૌતિક વિજ્ઞાન (અંગ્રેજી)
	STD_12_ભૌતિક વિજ્ઞાન (હિન્દી)

	12S693750
	12S883300
	12S899699
	STD_11_ભૌતિક વિજ્ઞાન (ગુજરાતી)
	STD_11_ભૌતિક વિજ્ઞાન (અંગ્રેજી)
	STD_11_ભૌતિક વિજ્ઞાન (હિન્દી)

	12S934584
	Std 11 Biology(GHE)
	STD_11_056_E
	STD_11_056_H
	STD-11-056-G

	Std 12 Biology(GHE)
	STD_12_056_E
	STD_12_056_G
	STD_12_056_H


	12S948875
	12S977699

